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Answer ALL questions E

5.  Write down the context free grammar for the language L= {a"b" In>1 }

Is'the languaée L :?{a"b”c" In>1 } is context free? Justify.

Maximum : 100 Marks
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PART B — (5 x 16 = 80 Marks)

Construct the deterministic finite automata for acceptmg the
all strings with three consecutive 0’s. 4

Distinguish NFA and DFA with examples.

Or

Consider the finite automata transition t
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Find the language accepted by thafimte automata

Whatis ¢ - closure (q)" Explain w1than example

Letr be a regulér exﬁé@“‘smn ?ﬁ*@v‘e that there exists an NFA with
ts Lisf - 2

¢ -transitions thataceep

Is the lang«uaéc L:«{a

Prove that regular sets are closed under substitution.

< S=>aBlbA
A->alaS|bAA
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éregular? Justify.

hat is deterministic PDA? Explain with an example.
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al DE}A for the regular expression (b|a) * baa.
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Construct the PDA for the Language L={wcwR |w is 1

Let L is a context free language. Prove that there exi ‘

accepts L.

Obtain a Greibach normal form grammar equivalent to the context

free grammar
S—AA|0
A—>SS|1

®

®

L= {wwR lw is Hiy(@%fﬂ%

Explain the differenice beigween tré;:sﬁtable and intractable problems
% &
& (10)

(6)
Explain post corre§ Wc}énce problem with an example. (8)
Explain any four NP-Complete problems. 8

3 53106




